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11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 833

2. 453

3. 763

4. 863

5. 295

6. 279

7. 367

8. 992

9. 438

10. 485

11. 595

12. 506

13. 679

14. 541

15. 445

16. 986

17. 983

18. 811

19. 279

20. 868

Use rounding strategies to find the sum.

Rather than lining up the place values, one strategy is to
round to the highest place value and solve mentally.

194 + 236 =

In the example above 194 rounds up to 200. That would make
our problem look like:

200 + 236 =

Now we can mentally add and find the
solution.

200 + 236 = 436

But since we added 6 to 194 (to make it 200),
now we have to take 6 away.

436 - 6 = 430

And now we have our sum.

1) 299 + 534 = 833 2) 93 + 360 = 453

3) 394 + 369 = 763 4) 591 + 272 = 863

5) 99 + 196 = 295 6) 95 + 184 = 279

7) 193 + 174 = 367 8) 398 + 594 = 992

9) 99 + 339 = 438 10) 195 + 290 = 485

11) 392 + 203 = 595 12) 198 + 308 = 506

13) 393 + 286 = 679 14) 395 + 146 = 541

15) 294 + 151 = 445 16) 199 + 787 = 986

17) 694 + 289 = 983 18) 499 + 312 = 811

19) 91 + 188 = 279 20) 594 + 274 = 868
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